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❊✐♥❡ st❛t✐s❝❤ ✉♥❜❡st✐♠♠t❡ ❚r❛❣str✉❦t✉r s♦❧❧ ♠✐tt❡❧s ❞❡s ❑r❛❢t❣röÿ❡♥✈❡r❢❛❤r❡♥s ✉♥t❡rs✉❝❤t
✇❡r❞❡♥✳

EI = 10.000 [kN*m²]

EA = GAQ = ∞
αT = 10-5 [K-1]

ΔT/h = 40 [K/m]

cF = 15.000 [kN/m] 

cM = 20.000 [kNm/rad] 
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❋❡❞❡r ✐♠ ✈♦r❧✐❡❣❡♥❞❡♥ ❙②st❡♠ ❡✐♥❣❡s❡t③t ✇❡r❞❡♥❄ ❇❡❣rü♥❞❡♥ ❙✐❡ ✐❤r❡ ❆♥t✇♦rt✳

❑❧❛✉s✉r ❇❛✉st❛t✐❦ ✲ ❋rü❤❥❛❤r ✷✵✶✾ ✹



❘✉❤r✲❯♥✐✈❡rs✐tät ❇♦❝❤✉♠ • ❇❛✉✲ ✉♥❞ ❯♠✇❡❧t✐♥❣❡♥✐❡✉r✇✐ss❡♥s❝❤❛❢t❡♥ • ❙t❛t✐❦ ✉♥❞ ❉②♥❛♠✐❦

❆✉❢❣❛❜❡ ✹ ✭ ✶✷ P✉♥❦t❡✮

❊✐♥ ❊♥t✇✉r❢ ❡✐♥❡r ❋✉ÿ❣ä♥❣❡r❜rü❝❦❡ s♦❧❧ ❤✐♥s✐❝❤t❧✐❝❤ ✐❤r❡s ❱❡r❢♦r♠✉♥❣s✈❡r♠ö❣❡♥s ✉♥t❡rs✉❝❤t
✇❡r❞❡♥✱ ✉♠ ❡✐♥❡ ❛✉sr❡✐❝❤❡♥❞❡ ●❡❜r❛✉❝❤st❛✉❣❧✐❝❤❦❡✐t ③✉ ❣❛r❛♥t✐❡r❡♥✳

EAPS ≠ ∞ 

EA1-3 =  ∞
GA = ∞
EI = 10.000 [kN*m²] 

δV
1 2

3

δH

g = 15 kN/m

q = 10 kN/m

PS

4m 4m 4m

8m

45°

2
6
,6

°

❉✐❡ ❢♦❧❣❡♥❞❡♥ ❋r❛❣❡♥ s✐♥❞ ③✉ ❜❡❛♥t✇♦rt❡♥✿

❛✮ ✭✶✵ P✳✮ ❇❡st✐♠♠❡♥ ❙✐❡ ♠✐t ❍✐❧❢❡ ❞❡s Pr✐♥③✐♣s ❞❡r ✈✐rt✉❡❧❧❡♥ ❑rä❢t❡ ❞✐❡ ❤♦r✐③♦♥t❛❧❡
❱❡rs❝❤✐❡❜✉♥❣ ❞❡s P②❧♦♥❦♦♣❢❡s δH ✳ ❲✐❡ ❣r♦ÿ ♠✉ss ❞✐❡ ❉❡❤♥st❡✐✜❣❦❡✐t ❞❡r P❡♥❞❡❧stüt③❡
❣❡✇ä❤❧t ✇❡r❞❡♥✱ ❞❛♠✐t ❞✐❡ ❤♦r✐③♦♥t❛❧❡ ❱❡rs❝❤✐❡❜✉♥❣ δH ❣❧❡✐❝❤ ✵♠ ✇✐r❞❄

❜✮ ✭✶ P✳✮ ❲✐❡ ✇ür❞❡ s✐❝❤ ❡✐♥❡ ❊r❤ö❤✉♥❣ ❞❡s ❊✐❣❡♥❣❡✇✐❝❤ts ❞❡s P②❧♦♥s ❣ ❛✉❢ ❞✐❡ ❱❡r❢♦r✲
♠✉♥❣ ✐♥ ❋❡❧❞♠✐tt❡ δV ❞❡s ❇❛❧❦❡♥trä❣❡rs ❛✉s✇✐r❦❡♥❄

❝✮ ✭✶ P✳✮ ❍❛t ❞✐❡ ❉❡❤♥st❡✐✜❣❦❡✐t EAPS ❞❡r P❡♥❞❡❧stüt③❡ ✐♠ ✈♦r❧✐❡❣❡♥❞❡♥ ❙②st❡♠ ❡✐♥❡♥
❊✐♥✢✉ss ❛✉❢ ❞✐❡ ✈❡rt✐❦❛❧❡ ❱❡r❢♦r♠✉♥❣ δV ❄ ❇❡❣rü♥❞❡♥ ❙✐❡ ✐❤r❡ ❆♥t✇♦rt✳

❑❧❛✉s✉r ❇❛✉st❛t✐❦ ✲ ❋rü❤❥❛❤r ✷✵✶✾ ✺


